Sketch the solution to each system of inequalities.
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MULTIPLE CHOICE
1) <lx+1
)
1
>—x—3
)
A)
Ay
BEENEN
-l ] \ .
pENE TN T
B S
Y
B) AY
P
. ’ L.
T et R S x
P4 B i
e 4
4
)
Ay
1
\
\T&
- A >
i pial L 214 1x
1Y
.f;_qﬁh‘
+¥
D) AY
T ﬁ;l 7 N o
Kt

Name

4
2y y>—x+2
3
1
yz——x-3
3
A) —— Ay
LI |
gﬂ} i el
: 1 jo™]
=l
e —;‘ T 14
"z \\
by
4
B
) Ay
T
4
/7
| Fi
ol V. "
St alp 3 %
b G
Iy \‘
r I
¥ B Sl
¥
C
) Ay
1N M
. L I-
STIC
2 .\ e
=" —;‘ ] f*i’;
4 b,
= 3
¥
D
) Ay
J |
I 4
B
“Th —2‘" HEMIE! ";
gt -
Y

-1-




1
3)y<21”3 4) y< 542
y>~5x—2 y>3x-3
A
A) AY P ) k+y
I ) rd 11
N /i
ol f - \‘
N 4| P 4 L|"; K -2 b ] ;x
> \_\.
A 4 5
— IR
B
B) Ay ) Ay 4
7 T
i e 7
(& ’ - i
w N
“T3 2 AW x B / T4 ox
2 ﬂL = 2.’
’.— (.
* n
D H
O 17 O Ay 4
d 5
4']_
P4 ’I
-l 1o I .
“THE = o % E=dE 7 2lelx
= 2 _'——:
Pi ]
,{ Y D
D) AY ) +}’ : .
i X
L ¥
ﬁ 2y
» ' Iy
T ¢ BN ' AR N
] i
7 o i
] ] =4
T v
¥ v

2-



Ay

AY
! .

k J

+

2x—y<-1

6) y=3
A)

B)

x—-3y<3

A)

-5 x-3y>-6

B)

[ L
- SRmEm x
< d a.... ._ .J.,.
v W | W
o LA ) T £ i) e, .
Al e Al dely LY P Y
¥ T L3 T ¥ ¥ T]™%
U i
Y

A
AY
e
Y
AY
_.._,‘ o b
A

4
=4

-2

-2

-

4

C)
D)

-3-

O
D)



Nx-—yz2l1
x+3y=>9
A
) Ay
- J
| | 7/
; I~
; 11 e
oy 7 | >
e 12130
A N
- o
L
Y
B
) Ay
Ty
o ]
b L
“TH & i
Y
C
) Ay
LA
“TH 24 i x
L 3 N
yARD
4 B
Y
D
) AY
I L 1 63
g 14
31 i WE
<t / >
ST e
LR
7 "\-
S I .h
Y

-~

A

"

il 4
| w\
B)
Ay
XTI AT
1/ it
%
-« f s
_4 - 4 X
h Y B
\r‘ o
©) Ay
TR T
A i
il \ ——‘;
NETE b N,
ol A
A 4
D) Ay
-
<] ] >
Ui
]
|
Y



2
6

)
)

B
D

Answers to MULTIPLE CHOICE
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